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i 1,484,500 1,484,500 0
AME= Holis ME L LA Al 15,000 15,000 0
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201 Ler2aY| 4,500 3,000 1,500
= 1,350 900 450
z 3,150 2,100 1,050
01 At 2teltl 3,900 3,000 900
OHNX= SoliE LN A2l
338 3,900,000& 3,900 3,000 900
LS 1,170 900 270
= 2,730 2,100 630
03 A2 SHI 600 0 600
N2 HalE HZLM RS (TME S)
600,000+ 12 600 0 600
< 180 0 180
= 420 0 420
202 04t 1,000 1,500 A500
= 300 450 2150
= 700 1,050 A350
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OdMA= dollE HZLM =X0I
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307 2IZtolI& 16,000 800 15,200
= 3,200 160 3,040
= 12,800 640 12,160
02 QZHEMAIHE X 16,000 800 15,200
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= 4,400 10,800 26,400
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C 4,400 10,800 6,400
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o 0 64 64
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e 0 4,000 24,000
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= 0 16,000 16,000
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Od0i=sttE =M K& (HA)
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= 12,642 0 12,642
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Jl2dtl(s0Ism) 80,500 83,000 22,500
LB A| 43,900 46,400 22,500
201 L= 43,900 46,400 22,500
01 AF2-2t2ltl 21,900 24,400 /2,500
O3S HAL(MY)
& 03 0 2,500 22,500
Hegs(sg1sn) 723,979 0 723,979
SEIE(sY0Is) 723,979 0 723,979
= BX3 pEa 723,979 0 723,979
802 Btet=DIEt 723,979 0 723,979
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